

Je teste mes automatismes

Mon score : / 20 ou %

Calcule mentalement :

$(-2) + (-8) = \dots\dots\dots$

$(+16) + (+5) = \dots\dots\dots$

$(+11) + (-17) = \dots\dots\dots$

$(+18) + (-4) = \dots\dots\dots$

$(-12) + (-12) = \dots\dots\dots$

$(-10) + (+5,5) = \dots\dots\dots$

$-9 + 12 = \dots\dots\dots$

$15 + (-22) = \dots\dots\dots$

$-8 + (-7) = \dots\dots\dots$

$-12 + 17,5 = \dots\dots\dots$

$-16,9 + 16,9 = \dots\dots\dots$

$-12,7 + (-22,3) = \dots\dots\dots$

$7 - 16 = \dots\dots\dots$

$-8 - (-7) = \dots\dots\dots$

$(-12,5) - (+7,5) = \dots\dots\dots$

$-3,4 - (-3,4) = \dots\dots\dots$

$-25 - (-15) = \dots\dots\dots$

$-6 - 15 = \dots\dots\dots$

$16 - (-17,5) = \dots\dots\dots$

$-6 - 6 = \dots\dots\dots$

Je teste mes automatismes

Mon score : / 20 ou %

Calcule mentalement :

$(-2) + (-8) = \dots\dots\dots$

$(+16) + (+5) = \dots\dots\dots$

$(+11) + (-17) = \dots\dots\dots$

$(+18) + (-4) = \dots\dots\dots$

$(-12) + (-12) = \dots\dots\dots$

$(-10) + (+5,5) = \dots\dots\dots$

$-9 + 12 = \dots\dots\dots$

$15 + (-22) = \dots\dots\dots$

$-8 + (-7) = \dots\dots\dots$

$-12 + 17,5 = \dots\dots\dots$

$-16,9 + 16,9 = \dots\dots\dots$

$-12,7 + (-22,3) = \dots\dots\dots$

$7 - 16 = \dots\dots\dots$

$-8 - (-7) = \dots\dots\dots$

$(-12,5) - (+7,5) = \dots\dots\dots$

$-3,4 - (-3,4) = \dots\dots\dots$

$-25 - (-15) = \dots\dots\dots$

$-6 - 15 = \dots\dots\dots$

$16 - (-17,5) = \dots\dots\dots$

$-6 - 6 = \dots\dots\dots$

Je teste mes automatismes

Mon score : / 20 ou %

Calcule mentalement :

$(-2) + (-8) = \dots\dots\dots$

$(+16) + (+5) = \dots\dots\dots$

$(+11) + (-17) = \dots\dots\dots$

$(+18) + (-4) = \dots\dots\dots$

$(-12) + (-12) = \dots\dots\dots$

$(-10) + (+5,5) = \dots\dots\dots$

$-9 + 12 = \dots\dots\dots$

$15 + (-22) = \dots\dots\dots$

$-8 + (-7) = \dots\dots\dots$

$-12 + 17,5 = \dots\dots\dots$

$-16,9 + 16,9 = \dots\dots\dots$

$-12,7 + (-22,3) = \dots\dots\dots$

$7 - 16 = \dots\dots\dots$

$-8 - (-7) = \dots\dots\dots$

$(-12,5) - (+7,5) = \dots\dots\dots$

$-3,4 - (-3,4) = \dots\dots\dots$

$-25 - (-15) = \dots\dots\dots$

$-6 - 15 = \dots\dots\dots$

$16 - (-17,5) = \dots\dots\dots$

$-6 - 6 = \dots\dots\dots$